
Name: 　　　　　　　 Datum: 　　　　　　 Ergebnis: 　　　

Multiplikation von Polynomen

(5x + 1)(4x + 9x + 9)2 (8x − 4)(6x − 6)

(6x − 3)(5x + 9x + 9)2 (9x + 8x + 8)(5x − 9)2

(6 − 8x)(5x + 3) (1 − x (x − 1)2)

(3x − 7)(x + 2)2 (4x − 8)(4x + 4)2

(x + 1)(9x − 2) (3 + x)(5x + 6)
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Name: 　　　　　　　 Datum: 　　　　　　 Ergebnis: 　　　

Multiplikation von Polynomen

(5x + 1)(4x + 9x + 9)2

20x + 49x + 54x + 93 2

(8x − 4)(6x − 6)

48x − 72x + 242

(6x − 3)(5x + 9x + 9)2

30x + 39x + 27x − 273 2

(9x + 8x + 8)(5x − 9)2

45x − 41x − 32x − 723 2

(6 − 8x)(5x + 3)

−40x + 6x + 182
(1 − x (x − 1)2)

−x + x + x − 13 2

(3x − 7)(x + 2)2

3x + 6x − 7x − 143 2

(4x − 8)(4x + 4)2

16x + 16x − 32x − 323 2

(x + 1)(9x − 2)

9x + 7x − 22

(3 + x)(5x + 6)

5x + 21x + 182
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